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P
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AWK 5 ¢ 75 1 1 2]
PEfRL M+
VTR — AR $ 100 1 1 1l
PEfRL M1+
V7R — AR 675 1 1 1l
T VBEMETe
VT — AR ¢ 50 2 2 2]
Fififish
FCDHA LT ¢ 50 1 1 1
P RHiAA)
fheIfE  JWWA B 132 5+ 1 6 M
LIS
PR25 (K) 0 + 1 11 i
RE
RA25 (A) 5 + 1 6 (&)
P RS
RB25 (B) 2 2 1l
T EREE
RC25(C) 5 + 1 6 il
JEERR
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1 TX + T % & %
+TAa47° 1-1 HIEHE As HPE ¢ 100 DP=0.90m
+ TR L= 70.1 +40.3 +36.6 +6.3  +39.9 +28.1 = 2213 m
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SEERTUELAGA T  As, t=10cnBAF 0.60 X 221.3 m?| 132.8
B RImEI T Bk WL 0.60 X 1.085 X 221.3 m’| 144.1
AR T RC-40 0.60 X 0.410 X 221.3 m® 54.4
B T D
AR T Joar R ( 060 X 0525 — 0125 2 X x,/4)x 2213 |m® 67.0
WEER R R
FEAE S wWE+ 144.10 — +~ 09 m’| 144.1
T A7 7 )b ML 0.60 X 0.04 X 221.3 m® 5.3
AR B4 As m’ 5.3
TG URIENE - 25> T 0.023 X 0.04 X 442.6 m® 0.41
PR T RC-40, t=16cm 0.60 X 221.3 m?| 132.8
AR AS(13)
*JE t=3cm 0.60 X 221.3 m?| 132.8
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AR T etk RYEL T 0.60 X 1.385 X 9.1 m® 7.6
AR T RC-40 0.60 X 0.710 X 9.1 m® 3.9
B T i
AR T Jovar b ( 060 X 0.525 — 0.125 2 X x,/4)x 9.1 m® 2.8
WEER R R
FEAE S wWE+ 760 — ~ 09 m® 7.6
T A7 7 )b ML 0.60 X 0.04 X 9.1 m® 0.2
AR B4 As m’ 0.2
TG URIENE - 25> T 0.023 X 0.04 X 18.2 m® 0.02
AR T RC-40, t=16cm 0.60 X 9.1 m’ 5.5
AR AS(13)
*JE t=3cm 0.60 X 9.1 m? 5.5
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1 TX + T % & %
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+ TR L= 3.0 +7.4 = 10.4 m
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= £ e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 | HEEIZE] 1.089
i H2 | #EAIE| 1.049
LS SRR T — hi  [HARFS] 0.410
iz—t V h |# & 0.489
I o
! 8y
i P}‘ ry
1 a| <
—
i S
! A4 y
\L
( 1.0 m 47=0%E)
4 i iR NI MR g =1 =V B % &
B As, t=15cmPA T 2.00 X 1.0 m 2.0
RIS LAGA T As, t=10cmBL T 0.60 X 1.0 m? 0.6
AR T etk RYEL T 0.60 X 1.049 X 1.0 m® 0.6
AR T RC-40 0.60 X 0410 X 1.0 m® 0.2
B T i
AR T Jovar b ( 0.60 X 0.489 — 0.089 2 X x,/4)X 1.0 m’ 0.3
WEER R R
FEAE S wWE+ 0.60 — = 09 m® 0.6
T A7 7 )b ML 0.60 X 0.04 X 1.0 m® 0.02
AR B4 As m’ 0.02
TG URIENE - 25> T 0.023 X 0.04 X 2.0 m®| 0.002
AR T RC-40, t=16cm 0.60 X 1.0 m’ 0.6
AR AS(13)
*JE t=3cm 0.60 X 1.0 m? 0.6
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1 TX + T % & %
+TH47° 1-6 MEHE As HIVP ¢ 75 DP=1.20m
+ TR L= 2.7 = 2.7 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
< N % I
i BRAET I
| RC-40 3
!
i A
i W | #EEIfE[  0.600
a i D1 [&4M%[ 0.089
= £ e IR 1ERM — DP_ | 40| 1.200
; RC-40 < H1 | HEEIZE] 1.389
i H2 | #EAIE| 1.349
LS SRR T — hi  [HARFf] 0.710
iz—t V h |# & 0.489
I o
! 8y
i P}‘ ry
1 a| <
—
i S
! A4 y
\L
( 2.7 m H7=v¥E)
4 i iR NI MR g =1 =V B % &
B As, t=15cmPA T 2.00 X 27 m 5.4
RIS LAGA T As, t=10cmBL T 0.60 X 2.7 m? 16
AR T etk RYEL T 0.60 X 1.349 X 2.7 m® 2.2
AR T RC-40 0.60 X 0.710 X 2.7 m® 1.2
B T i
AR T Jovar b ( 0.60 X 0.489 — 0.089 2 X x,/4)X 2.7 m’ 0.8
WEER R R
FEAE S wWE+ 220 — = 09 m® 2.2
T A7 7 )b ML 0.60 X 0.04 X 2.7 m® 0.1
AR B4 As m’ 0.1
TG URIENE - 25> T 0.023 X 004 X 5.4 m®| 0.005
AR T RC-40, t=16cm 0.60 X 2.7 m’ 1.6
AR AS(13)
*JE t=3cm 0.60 X 2.7 m? 1.6
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1 TX + T % & %
+TH47° 1-7 MEHE As PP ¢ 50 DP=0.90m
+ TR L= 52 +10.0 +1.5 = 16.7 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
—  —\ %
g N % 8
i BRAET I
| RC-40 3
!
i A
i W | #EEIfE[  0.600
a i D1 [&4M%[ 0.060
= 2 ° IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 | HEEIZE] 1.060
i H2 | #EAE|  1.020
LS SRR T — hi  [HARFS] 0.410
iz—F V h [ # & 0.460
I o
i S
Bl —A
1 a| <
—
o
i Sy oy
!
\ @D
( 16.7 m %7=v¥E)
4 i iR NI MR g =1 =V B % &
B As, t=15cmPA T 2.00 X 16.7 m 33.4
SEERTUELAGA T  As, t=10cnBAF 0.60 X 16.7 m? 10.0
B RImEI T Rt WYE 1+ 0.60 X 1.020 X 16.7 m® 10.2
AR T RC-40 0.60 X 0.410 X 16.7 m® 4.1
B T i
AR T Jovar b ( 0.60 X 0.460 — 0.060 2 X x,/4)X 16.7 m® 4.6
WEER R R
FEAE S YE 10.20 — +~ 0.9 m® 10.2
T A7 7 )b ML 0.60 X 0.04 X 16.7 m® 0.4
AR B4 As m’ 0.4
TG URIENE - 25> T 0.023 X 0.04 X 33.4 m® 0.03
PR T RC-40, t=16cm 0.60 X 16.7 m? 10.0
AR AS(13)
EE] t=3cm 0.60 X 16.7 m? 10.0
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1 TX + T % & £

+TH47° 1-8 MEHE As PP ¢ 50 DP=1.20m
+ TIER L= 35 +35 +1.0 +1.0 = 9.0 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
g N % 8
i BRAET I
| RC-40 3
!
i A
i W | #EEIfE[  0.600
a i D1 [&4M%[ 0.060
= 2 ° IR 1ERM — DP_ | 40| 1.200
; RC-40 < H1 | EEIZE] 1.360
i H2 | #EAIE|  1.320
BB EHRT— hl | HEEH| 0.710
iz—F V h [ # & 0.460
I o
i 8y
i El}‘ ry
1 a| <
—
i S
! A4 y
\ ¢D
( 9.0 m %7=v¥E)
4 b iR NI MR g = =V B % &
B As, t=15cmPA T 2.00 X 9.0 m 18.0
RIS LAGA T As, t=10cmBL T 0.60 X 9.0 m? 5.4
AR T etk RYEL T 0.60 X 1.320 X 9.0 m® 7.1
AR T RC-40 0.60 X 0710 X 9.0 m® 3.8
B T i
AR T Jovar b ( 0.60 X 0.460 — 0.060 2 X x,/4)X 9.0 m® 2.5
WEER R R
FEAE S wWE+ 710 — ~ 09 m® 7.1
T A7 7 )b ML 0.60 X 0.04 X 9.0 m® 0.2
AR B4 As m’ 0.2
TG URIENE - 25> T 0.023 X 0.04 X 18.0 m® 0.02
AR T RC-40, t=16cm 0.60 X 9.0 m’ 5.4
AR AS(13)
*JE t=3cm 0.60 X 9.0 m? 5.4
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1 TX + T % & %
+TH47° 1-9 MEHE As PP ¢ 20 DP=0.65m
+ TR = 1.1 = 1.1 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
g N % 8
i BRAET I
| RC-40 3
|
i A
i W | #EEIfE[  0.600
a i D1 [&E4ME[ 0.027
= £ e IR 1ERM — DP_ | 40| 0.650
; RC-40 < H1 | REIE 0.777
i H2 | #EAE| 0.737
LS SRR T — hi  [HAFF] 0.160
iz—t V h [ w & 0427
I o
| o
| —
| 5| =
—
i S
! A4 y
\L
( 1.1 m 47=0%E)
4 i iR NI MR g =1 =V B % &
B As, t=15cmPA T 2.00 X 1.1 m 2.9
RIS LAGA T As, t=10cmBL T 060 X 1.1 m? 0.7
AR T etk RYEL T 0.60 X 0.737 X 1.1 m® 0.5
AR T RC-40 0.60 X 0.160 X 1.1 m® 0.1
B T i
AR T Jovar b ( 0.60 X 0427 — 0.027 2 X x,/4)X 11 m’ 0.3
WEER R R
FEAE S wWE+ 0.50 — = 09 m® 0.5
T A7 7 )b ML 0.60 X 0.04 X 1.1 m® 0.03
AR B4 As m’ 0.03
TG URIENE - 25> T 0.023 X 0.04 X 22 m®| 0.002
AR T RC-40, t=16cm 0.60 X 1.1 m’ 0.7
AR AS(13)
*JE t=3cm 0.60 X 1.1 m? 0.7
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1 TX + T % & %
+TH47° 1-10 MEHE As PP ¢ 13 DP=0.65m
+ TR = 3.9X7+1.1X7+4.6X3+1.1 = 49.9 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
—  —\ %
g N % 8
i BRAET
| RC-40 3
!
i
i W | #EEIfE[  0.600
a i D1 [E4ME[ 0.022
= 2 ° IR 1ERM — DP_ | 40| 0.650
; RC-40 < H1 | HREIZE 0.772
i H2 | #RAE| 0.732
LS SRR T — hi  [HAFF] 0.160
iz—t h [ w & 0.422
[ o
i S
B —
| 5| =
- ¥
o
i =
!
\ @D
( 49.9 m H7=0HE)
4 g iR NI MR A =V B % &
B As, t=15cmPA T 2.00 X 49.9 m 99.8
SEERTUELAGA T  As, t=10cnBAF 0.60 X 49.9 m? 29.9
B RImEI T Rt WYE 1+ 0.60 X 0.732 X 49.9 m® 21.9
AR T RC-40 0.60 X 0.160 X 49.9 m® 4.8
B T i
AR T Jovar b ( 0.60 X 0.422 — 0.022 2 X x,/4)X 49.9 m® 12.6
WEER R R
FEAE S YE 21.90 — +~ 0.9 m® 21.9
T A7 7 )b ML 0.60 X 0.04 X 49.9 m® 1.2
AR B4 As m’ 1.2
TG URIENE - 25> T 0.023 X 0.04 X 99.8 m® 0.09
PR T RC-40, t=16cm 0.60 X 49.9 m? 29.9
AR AS(13)
EE] t=3cm 0.60 X 49.9 m? 29.9
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2 TIX + T % & %
+TH47° 1-3 MEHE As HPE ¢ 75 DP=0.90m
+ TR L= 9.5 = 95 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
g N % 8
i BRAET
| RC-40 3
!
i
i W | #EEIfE[  0.600
a i D1 [&4M%[ 0.090
= £ e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 | HEEIZE] 1.090
i H2 | #EAIE|  1.050
LS SRR T — hi  [HARFS] 0.410
iz—t h [ # =] 0.49
I o
| o
B —
| 5| =
- ¥
o
i =
!
\ @D
( 9.5 m %7=viE)
4 g iR NI MR A =V B % &
B As, t=15cmPA T 2.00 X 95 m 19.0
RIS LAGA T As, t=10cmBL T 0.60 X 95 m? 5.7
AR T etk RYEL T 0.60 X 1.050 X 95 m® 6.0
AR T RC-40 0.60 X 0.410 X 95 m® 2.3
B T i
AR T Jovar b ( 0.60 X 0.490 — 0.090 2 X x,/4)X 9.5 m’ 2.7
WEER R R
FEAE S wWE+ 6.00 — = 09 m® 6.0
T A7 7 )b ML 0.60 X 0.04 X 95 m® 0.2
AR B4 As m’ 0.2
TG URIENE - 25> T 0.023 X 0.04 X 19.0 m® 0.02
AR T RC-40, t=16cm 060 X 95 m’ 5.7
AR AS(13)
*JE t=3cm 0.60 X 95 m? 5.7

29




2 TIX + T % & %
+TH47° 1-5 MEHE As HIVP ¢ 75 DP=0.90m
+ TR L= 1.0 = 1.0 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
< N % I
i BRAET I
| RC-40 3
!
i A
i W | #EEIfE[  0.600
a i D1 [&4M%[ 0.089
= £ e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 | HEEIZE] 1.089
i H2 | #EAIE| 1.049
LS SRR T — hi  [HARFS] 0.410
iz—t V h |# & 0.489
I o
! 8y
i P}‘ ry
1 a| <
—
i S
! A4 y
\L
( 1.0 m 47=0%E)
4 i iR NI MR g =1 =V B % &
B As, t=15cmPA T 2.00 X 1.0 m 2.0
RIS LAGA T As, t=10cmBL T 0.60 X 1.0 m? 0.6
AR T etk RYEL T 0.60 X 1.049 X 1.0 m® 0.6
AR T RC-40 0.60 X 0410 X 1.0 m® 0.2
B T i
AR T Jovar b ( 0.60 X 0.489 — 0.089 2 X x,/4)X 1.0 m’ 0.3
WEER R R
FEAE S wWE+ 0.60 — = 09 m® 0.6
T A7 7 )b ML 0.60 X 0.04 X 1.0 m® 0.02
AR B4 As m’ 0.02
TG URIENE - 25> T 0.023 X 0.04 X 2.0 m®| 0.002
AR T RC-40, t=16cm 0.60 X 1.0 m’ 0.6
AR AS(13)
*JE t=3cm 0.60 X 1.0 m? 0.6
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2 TIX + T % & %
+TH47° 1-6 MEHE As HIVP ¢ 75 DP=1.20m
+ TR L= 2.8 = 2.8 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
g N % 8
i BRAET I
| RC-40 3
!
i A
i W | #EEIfE[  0.600
a i D1 [&4M%[ 0.089
= £ e IR 1ERM — DP_ | 40| 1.200
; RC-40 < H1 | HEEIZE] 1.389
i H2 | #EAIE| 1.349
LS SRR T — hi  [HARFf] 0.710
iz—t V h [ # &= 0.489
I o
i S
| —
| 5| =
—
o
i Sy oy
!
\L
( 2.8 m H7=viE)
4 i iR NI MR g =1 =V B % &
B As, t=15cmPA T 2.00 X 28 m 5.6
RIS LAGA T As, t=10cmBL T 0.60 X 2.8 m? 1.7
AR T etk RYEL T 0.60 X 1.349 X 2.8 m® 2.3
AR T RC-40 0.60 X 0.710 X 2.8 m® 1.2
B T i
AR T Jovar b ( 0.60 X 0.489 — 0.089 2 X x,/4)X 28 m’ 0.8
WEER R R
FEAE S wWE+ 230 — = 09 m® 2.3
T A7 7 )b ML 0.60 X 0.04 X 2.8 m® 0.1
AR B4 As m’ 0.1
TG URIENE - 25> T 0.023 X 004 X 56 m® 0.01
AR T RC-40, t=16cm 0.60 X 28 m’ 1.7
AR AS(13)
*JE t=3cm 0.60 X 2.8 m? 1.7
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2 TIX + T % & %
+TH47° 1-7 MEHE As PP ¢ 50 DP=0.90m
+ TR = 127.1 +53.9 +65.8 +0.4 = 2472 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
—  —\ %
g N % 8
i BRAET
| RC-40 3
!
i
i W | #EEIfE[  0.600
a i D1 [&4M%[ 0.060
= £ e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 | HEEIZE] 1.060
i H2 | #EAE|  1.020
BB EHRT— hl | HEH| 0.410
iz—t h [ # & 0.460
I o
i S
B —
| 5| =
—
! S
! A
\L
( 247.2 m H7=vfE)
4 g iR NI MR g =1 =V B % &
S T As, t=15cmLL F 2.00 X 247.2 m | 494.4
SEERTUELAGA T  As, t=10cnBAF 0.60 X 247.2 m?| 148.3
B RImEI T Rt WYE 1+ 0.60 X 1.020 X 247.2 m’| 151.3
AR T RC-40 0.60 X 0.410 X 247.2 m® 60.8
B T i
AR T Jovar b ( 0.60 X 0.460 — 0.060 2 X x,/4)X 247.2 |m® 67.5
WEER R R
FEAE S wWE+ 151.30 — +~ 09 m’| 151.3
T A7 7 )b ML 0.60 X 0.04 X 247.2 m® 5.9
AR B4 As m’ 5.9
TG URIENE - 25> T 0.023 X 0.04 X 494.4 m® 0.45
PR T RC-40, t=16cm 0.60 X 247.2 m?| 148.3
AR AS(13)
*JE t=3cm 0.60 X 247.2 m?| 148.3
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2 TIX + T % & £

+TH47° 1-8 MEHE As PP ¢ 50 DP=1.20m
+ TR L= 1.0 +1.0 = 2.0 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
g N % 8
i BRAET I
| RC-40 3
!
i A
i W | #EEIfE[  0.600
a i D1 [&4M%[ 0.060
= £ e IR 1ERM — DP_ | 40| 1.200
; RC-40 < H1 | EEIZE] 1.360
i H2 | #EAIE|  1.320
BB EHRT— hl | HEEH| 0.710
iz—t V h [ # & 0.460
[ o
| o
| —
| 5| =
—
i S
! A4 y
\L
( 2.0 m %7=v¥E)
4 b iR NI MR g = =V B % &
B As, t=15cmPA T 2.00 X 2.0 m 4.0
RIS LAGA T As, t=10cmBL T 0.60 X 2.0 m? 1.2
AR T etk RYEL T 0.60 X 1.320 X 2.0 m® 1.6
AR T RC-40 0.60 X 0710 X 2.0 m® 0.9
B T i
AR T Jovar b ( 0.60 X 0.460 — 0.060 2 X x,/4)X 2.0 m’ 0.5
WEER R R
FEAE S wWE+ 1.60 — ~ 09 m® 1.6
T A7 7 )b ML 0.60 X 0.04 X 2.0 m® 0.05
AR B4 As m’ 0.05
TG URIENE - 25> T 0.023 X 0.04 X 4.0 m®| 0.004
AR T RC-40, t=16cm 0.60 X 2.0 m’ 1.2
AR AS(13)
*JE t=3cm 0.60 X 2.0 m? 1.2
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2 TIX + T % & %
+TH47° 1-9 MEHE As PP ¢ 20 DP=0.65m
+ TR = 3.9 = 3.9 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
g N % 8
i BRAET I
| RC-40 3
!
i A
i W | #EEIfE[  0.600
a i D1 [&E4ME[ 0.027
= 2 ° IR 1ERM — DP_ | 40| 0.650
; RC-40 < H1 | REIE 0.777
i H2 | #EAE| 0.737
LS SRR T — hi  [HAFF] 0.160
iz—t V h [ w & 0427
I o
i S
Bl —
| 5| =
—
o
i Sy oy
!
\ ¢D
( 3.9 m %7v¥E)
4 i iR NI MR g =1 =V B % &
B As, t=15cmPA T 2.00 X 3.9 m 7.8
RIS LAGA T As, t=10cmBL T 0.60 X 3.9 m? 2.3
AR T etk RYEL T 0.60 X 0.737 X 3.9 m® 1.7
AR T RC-40 0.60 X 0.160 X 3.9 m® 0.4
B T i
AR T Jovar b ( 0.60 X 0427 — 0.027 2 X x,/4)X 3.9 m’ 1.0
WEER R R
FEAE S wWE+ .70 — = 09 m® 1.7
T A7 7 )b ML 0.60 X 0.04 X 3.9 m® 0.1
AR B4 As m’ 0.1
TG URIENE - 25> T 0.023 X 0.04 X 7.8 m® 0.01
AR T RC-40, t=16cm 0.60 X 3.9 m’ 2.3
AR AS(13)
*JE t=3cm 0.60 X 3.9 m? 2.3
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2 TIX + T % & %
+TH47° 1-10 MEHE As PP ¢ 13 DP=0.65m
+ TR =  1.2X6+3.9X5+3.8X2+4.0 X2 = 423 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
—  —\ %
g N % 8
i BRAET
| RC-40 3
!
i
i W | #EEIfE[  0.600
a i D1 [E4ME[ 0.022
= 2 ° IR 1ERM — DP_ | 40| 0.650
; RC-40 < H1 | HREIZE 0.772
i H2 | #RAE| 0.732
LS SRR T — hi  [HAFF] 0.160
iz—t h [ w & 0.422
[ o
| o
B —
1 | <
- ¥
o
i =
!
\ @D
( 42.3 m H7=0HEE)
4 g iR NI MR A =V B % &
B As, t=15cmPA T 2.00 X 42.3 m 84.6
SEERTUELAGA T  As, t=10cnBAF 0.60 X 42.3 m? 25.4
B RImEI T Rt WYE 1+ 0.60 X 0.732 X 42.3 m® 18.6
AR T RC-40 0.60 X 0.160 X 42.3 m® 4.1
B T i
AR T Jovar b ( 0.60 X 0.422 — 0.022 2 X x,/4)X 42.3 m® 10.7
WEER R R
FEAE S YE 18.60 — +~ 0.9 m® 18.6
T A7 7 )b ML 0.60 X 0.04 X 42.3 m® 1.0
AR B4 As m’ 1.0
TG URIENE - 25> T 0.023 X 0.04 X 84.6 m® 0.08
PR T RC-40, t=16cm 0.60 X 42.3 m? 25.4
AR AS(13)
EE] t=3cm 0.60 X 42.3 m? 25.4
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